e 19T 2L A7 ABCD 7F AAZ 4 D
ol 7] {It 2122
o
B c
@® AB=AC @ A=90°
@) A0B = 90° @ A0 =BO

® /CDA = /ACB

ZAFZe o] AALZE o]

L3
tjztdo] M=z S o) 5HalH %E}.
wrebA] LAOB = 90° ©|th,




oS 139 AABC oA /DAB =
/ACB , /DAE = /CAE ¢ o, x 9]
& -otH?

D)6 cm @ Tcm

(B = &%, /BAD = /BCA .. AABD @ ACBA (AA )
HFoH = E : BC = AD : CA9ll4] 12 : 24 = AD : 20
- AD = 10( cm)

AADC oA AE & /CAD 9] o]5HAo]|B& 10 : 20 = x :
(18 —x)

sox=6(cm)




W)
o o
o

M g
filo

98] 225 17 24T A
0] & FotH?

A

Ocmc
B~-2m- E\L[;%CIH
D
D 18 m @ 2m ® 21 m
@ 23 m ®)24 m

A=9 EolE x 2 5t

x:36 =200 : 30

wEtA] AEQ] £o]E 2.4 molth,




oS 83} 2ol AABCOJA AE:EC =1 : 20|12 AAED = 4cm?
A o, AABC 9] Ho]=?

A

ve)
Q

@ 12cm? @ 16cm? ® 20cm?

AE:EC=1 : 2, AAED =4 ©]2& ACDE = 8, AADC =
4+8=12

BD = CD°]|2& aAADC = AADB

. AABC = 2AADC = 24(cm?)




